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Q.1 Identify the segment in the given sentence which contains the grammatical error.

Soni take her daughter to the park in the evening in a stroller.
Ans 2{ 1. in the evening

Q_f 2. Soni take her daughter
2{ 3. in a stroller

2{ 4. to the park

Question ID : 4244291317
Status : Answered
Chosen Option : 2

Q.2 Select the INCORRECTLY spelt word.
Ans 2(: 1. Recurrent

-_w'J 2. Unpretensious
?{ 3. Excellence

2(: 4. Dilemma

Question ID : 4244291334
Status : Answered
Chosen Option : 4

Q.3 Select the word which means the same as the group of words given.

A type of magic in which spirits, especially evil ones, are used to make things happen
Ans QJ 1. Sorcery

?{ 2. Mimicry
75 3. Alchemy

x 4. Chemistry

Question ID : 4244291335
Status : Answered
Chosen Option : 3
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Q.4

Ans

Select the most appropriate option to fill in the blank in the given sentence.

We must not take the future for granted; rather, we should enjoy the joys of our
humdrum lives.

25 1. future
/X 2. habitual
x 3. average

J 4. everyday

T4
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Question ID : 4244291339
Status : Answered
Chosen Option : 4

Q.5
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

One of the reasons we fail to talk convincingly about climate change is that we present it as
something “out there”. We (1) to make it clear (2) it's linked to (3) daily
decisions, such as walking (4) driving, and not talk about it in (5) of
abstractions.

SubQuestion No : 5
Select the most appropriate option to fill in blank number 1.

2{ 1. use
2{ 2. know
_J 3. need

75 4. keep

Question ID : 4244291320
Status : Answered
Chosen Option : 3

Q.6
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

One of the reasons we fail to talk convincingly about climate change is that we present it as

something “out there”. We (1) to make it clear (2) it's linked to (3) daily
decisions, such as walking (4) driving, and not talk about it in (5) of
abstractions.

SubQuestion No : 6

Select the most appropriate option to fill in blank number 2.

W 1. that
X o2.if
75 3.then
X 4.s0

Question ID : 4244291321
Status : Answered
Chosen Option : 1
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Q.7

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

One of the reasons we fail to talk convincingly about climate change is that we present it as

something “out there”. We (1) to make it clear (2) it's linked to (3) daily
decisions, such as walking (4) driving, and not talk about it in (5) of
abstractions.

SubQuestion No : 7
Select the most appropriate option to fill in blank number 3.

ol
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Ans J 1. our
/X< 2. their
2{ 3. much
75 4.those
Question ID : 4244291322
Status : Answered
Chosen Option : 1
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
One of the reasons we fail to talk convincingly about climate change is that we present it as
something “out there”. We (1) to make it clear (2) it's linked to (3) daily
decisions, such as walking (4) driving, and not talk about it in (5) of
abstractions.
SubQuestion No : 8
Q.8 Select the most appropriate option to fill in blank number 4.
Ans

2{ 1. before
2{ 2. never

2{ 3. also
(4. or

Question ID : 4244291323
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

One of the reasons we fail to talk convincingly about climate change is that we present it as

something “out there”. We (1) to make it clear (2) it's linked to (3) daily
decisions, such as walking (4) driving, and not talk about it in (5) of
abstractions.

SubQuestion No : 9
Q.9 Select the most appropriate option to fill in blank number 5.

Ans “ 1. terms

x 2. voices

?{ 3. words

75 4. things

¢
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Question ID : 4244291324
Status : Answered
Chosen Option : 1

Q.10 Select the word which means the same as the group of words given.

A deep fissure in the earth's surface
Ans 2{ 1. Tremor

?{ 2. Volcano
2{ 3. Earthquake

Qf 4. Chasm

Question ID : 4244291336
Status : Answered
Chosen Option : 2

Q.11 Select the most appropriate ANTONYM of the given word.

APEX
Ans 2{ 1. Pinnacle

?(,— 2. Force

Qf 3. Base

?(,— 4. Asset

Question ID : 4244291329
Status : Answered
Chosen Option : 3

SSC CHSL 2020

A Comprehensive Course

(English | &)




wWww.

radeup.co

Q.12 Select the most appropriate meaning of the underlined idiom in the given sentence.

Have you heard the news that Hema is looking for greener pastures?
Ans x 1. has been fired

( 2. exploring new opportunities
X 3. was feeling rejected

x 4. has been transferred

T4
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Question ID : 4244291331
Status : Answered
Chosen Option : 2

Q.13 Select the most appropriate meaning of the underlined idiom in the given sentence.

clients.

Ans X" 1. behaved insolently

x 2. started sniggering
x 3. kept shouting

Q_f 4. remained expressionless

Question ID : 4244291332
Status : Answered
Chosen Option : 3

Q.14 Identify the segment in the given sentence which contains the grammatical error.

The wedding reception will be hosted in Mumbai at a late date.
Ans x 1. The wedding reception

\f 2. at a late date
75 3.in Mumbai

75 4. will be hosted

Question ID : 4244291318
Status : Answered
Chosen Option : 2

Q.15 Select the option that is the direct form of the given sentence.

Explaining her work she said that she made films for posterity to remember.

Ans x 1. Explaining her work, she said, “She makes films for posterity to remember.”

x 2. Explaining her work, she said, “I will make the films that will remember posterity.”
x 3. Explaining her work, she said, “She made films for posterity to remember.”

J 4. Explaining her work, she said, “I make films for posterity to remember.”

Question ID : 4244291316
Status : Answered
Chosen Option : 1
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Q.16 Select the most appropriate option to substitute the underlined segment in the given gradeup
sentence. If there is no need to substitute it, select No improvement.

The book’s page seem to have been torn by someone.
Ans x 1. No improvement

x 2. The page of the book has seem
( 3. The book’s page seems

x 4. The page of the book was seems

Question ID : 4244291327
Status : Answered
Chosen Option : 3

Q.17 Select the most appropriate option to fill in the blank in the given sentence.
A literature festival on the beach: With waves crashing on the beach, the Kerala

Literature Festival got in Kozhikode with a range of panel discussions in
English and Malayalam.

Ans o 1 underway
75 2. wayward
?{ 3. apart
75 4. away

Question ID : 4244291340
Status : Answered
Chosen Option : 1

Q.18 Select the most appropriate ANTONYM of the given word.

EXPUNGE
Ans J 1. Insert

?{ 2. Remove
75 3. Exhaust

?{ 4. Deplete

Question ID : 4244291330
Status : Answered
Chosen Option : 1

Q.19 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

Have you got confirmation of the receipt of the donation?

Ans x 1. Has you got confirmations
J 2. No improvement
x 3. Did you got confirmation

x 4. Have you get confirmation

Question ID : 4244291328
Status : Answered
Chosen Option : 3
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Q.20 Select the most appropriate synonym of the given word. gradeup

MOTIF
Ans x 1. Creation

“ 2. Design
X 3. Reason

x 4. Purpose

Question ID : 4244291337
Status : Not Answered
Chosen Option : --

Q.21 Select the option that is the passive form of the given sentence.

This book explores the secret of leading a long and meaningful life.

Ans J 1. The secret of leading a long and meaningful life is explored in this book.

x 2. The secret of leading a long and meaningful life have been explored by this book.
x 3. The secret of leading a long and meaningful life had been explored by this book.

x 4. The secret of leading a long and meaningful life was being explored by this book.

Question ID : 4244291315
Status : Answered
Chosen Option : 1

Q.22 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. In reality, however, we exist in compartments, separated by walls of caste, religion,
and geography.

B. But we find that ignorance levels are growing as well because the rate at which we
are accumulating information is not commensurate with the rate at which our
awareness is growing.

C. Technologically we live in a borderless world.

D. Another paradox is that we take pride in describing ourselves as a knowledge-
based society.

Ans o 1.CADB

#< 2.CBAD
/5 3.ABDC
75 4.BADC

Question ID : 4244291326
Status : Answered
Chosen Option : 1

Q.23 Select the correctly spelt word.
Ans J 1. Acquaintance

x 2. Exquiste

X 3. Squirrell
x 4. Recquirement

Question ID : 4244291333
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Ans

order.

Q.24 Given below are four jumbled sentences. Select the option that gives their correct

A. The father then wanted his son to pick him up at four in the afternoon so that they

could go home together.

B. A teenager had just passed his driving test and was eager to drive his father’s car.
C. He asked his son to drop him at a place that was some 18 miles from home before

he took the car for servicing.
D. His father agreed.

o 1.BDCA

/5 2.CBAD
75 3.ADBC
/5 4.BCAD

T4
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Question ID : 4244291325
Status : Answered
Chosen Option : 1

Ans

ACCRUE
?{ 1. Range
of 2. Collect
?{ 3. Spread

2(: 4. Variety

Q.25 Select the most appropriate synonym of the given word.

Question ID : 4244291338
Status : Not Answered
Chosen Option : --

Section

Q1

Ans

37 faes & oo H{ orme del 9T § 96 §eY g Sl gEd WEdT & Jgell §ET ° F

14518207 22 £ 3

X 1. 244
X 2 444
X 3. 482
v 4 462

-

Question ID : 4244291344
Status : Answered
Chosen Option : 4
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Q.2 =g iy (1 & 4 3rgpfad & ¥) & =997 Hfow T & 72 odic #=F Wt | @ aa@ =1 g gradeup
2l

20 4w

Ans X 1. Faa gt 3 3K 4
v 2 FIT HFIT 4
X 3 Fad HFaaAr 1 3K 2
X 4 Faer HTEF 2

Question ID : 4244291359
Status : Not Answered

Chosen Option : --
L

Q.3 wF g s F OMENTION' & NEITNOM' Bram =iar &1 3% smar & ‘PATTERN' & a7 forgm =ean?
Ans X 1. LSOIANN

v 2 NAETTRP

< 3. DOEECTS

X 4+ RESWNDU

PE—
Question ID : 4244291351
Status : Answered
Chosen Option : 2
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Ans

FEy

[
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O 37 FEwr B TEEE S SR vt & wefta a8 ¥
31, bi. 36 27,2
Ans x 1. 54
V2 22
X3 27
< 4 36
Question ID : 4244291347
Status : Answered
Chosen Option : 2
Q6 v FRwm FT A F DEAF & HIGM' frmar Smar §1 33 mar & ‘CALM & Far S Seem?
Ans X1 GCYZ
v2GFRT
XK3FBXY
KX4EBXY
Question ID : 4244291349
Status : Answered
Chosen Option : 2

Q7 et & 9w @ v v §, BE # O S a3 R e @ wme € o T s § 5w
I TET AU B

ans g (84, 116, 181)
X 2 (44, 89, 179)
X 3 (71, 108, 182)
X 4 (35, 81, 173)

Question ID : 4244291345
Status : Not Answered
Chosen Option : --

Q.8 = ereg R oiw § Towd @ O hdT 7 e dig © w9 & #N U 36T §1 3E 3T 9eg &
TTT FE

Ay e
X 2 grpfas g
< 3 Prer
X 4 ST

Question ID : 4244291357
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Q9 EfafRm o F wea-Rew (7) F TU WX AEETET §EAT T a9 HL
2. 3, 6, 15,7, 157.5;, 630
Ans %148
X< 2 54
<349
v 45

T4
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Question ID : 4244291346
Status : Answered
Chosen Option : 4

Q10 337 37 3w & IO HST BT 0 T F e gEuT F q9iSs HEI0T FaT B

@

0,
(&)

Question ID : 4244291365
Status : Answered
Chosen Option : 1
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QM Trafefdm a=l & o5 7 #1709 $fSw (B oF F i ¥ T F 51T 59 9 miE)

1. 37ERRT
2. 3=
3. dr=iE
4 gt

Ans X1.2.1,. 3, 4
<24 3 21
<33 2 1,4
(4' 35 -15 2: 4

¢
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Question ID : 4244291348
Status : Answered
Chosen Option : 4

Q12 s TfmT gz oo # ‘BOOK' &r 139 3R ‘PEN’ #r 302 for@m =iam &1 @7 &1 & ‘COPY’ &t &7
o areem?

Ans X 1. 167
V2 2822
X 5 279
X 4 2547

Question ID : 4244291350
Status : Not Answered
Chosen Option : --

Q13 37 e wpla & Taa HfoT A BT Juer & RAT=F RFed & w0 | o
TF 2

[ oo | ®ce | ecege |[weoescece i ]

Ans X1 @O@808 00
v 2 ecececece
X3 e0800080
X4 @e000000800

Question ID : 4244291360
Status : Answered
Chosen Option : 2
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Q14 o & o1 st # ST & TS gHES B OASS # HA T FeS F1 Al @ @ ¥ 7w
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Question ID : 4244291363
Status : Answered
Chosen Option : 4
SSC CHSL 2020




wWww.

radeup.co

Q15 37 e #1907 FY SwH oedl & 3w F 7 Te § S By v amm-gyH & o= & @ g
a8« fareiefrex

A of 1 sTaEe ;AT
X 2 A : HFH
X o Eoig : Eefaee
K4 o ST

¢
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Question ID : 4244291355
Status : Answered
Chosen Option : 3

Q16 37 fawew w1 wo= &% Swer dad T ¥ = g9y ¥ S gEd FE & aEe e ¥
132 : 156 : : 462 : 7

Ans X 1. 503
v 2 506
< 3. 505
X< 4. 484

Question ID : 4244291343
Status : Answered
Chosen Option : 2

Q.17 G is the grandfather of S. B has only two sons E and F. A and B are the only sons of G. Who is the father of $?
Ans ?{ 1. B

X2 E

Vs A

X4 F

Question ID : 4244291354
Status : Answered
Chosen Option : 3

Q.18 = wsw-amg R 7§, O ¥ 8= Rl 7 R O @ T § R o 3 ¥ 3W s e
T & 947 A

Ans X1 HGIFJ
v 2 TUSVR
X 3 DCEBF
X 4 RQSPT

Question ID : 4244291356
Status : Answered
Chosen Option : 2
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YR 9T &I o1 Teay w7 g

HYA

2l

1. 7 HHAT F 0T Hr FET F I
2. 9 YFIAN H Aiged HT FaT H AT
3. 7% Torw et sfgw &7 e & a7 § 309 &% vEe e e ag Fen & waw & smar

4. g wifecy & Fa & = @ 2 &7 9ger sfogw & wew F e

Ans X o e #r waT F ofe @ Sar B
X 2 gF FEER Fr Frer $r Far JF FJar 2
X 3 gH afaear Fr fer & Far 7 a2
v 4 TH FETER & e T e # A 2

Q19 R aw Fue # o= ¥ w1 FUA F T ATF FOFE AT O TR F = FwA F
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Question ID : 4244291358
Status : Answered
Chosen Option : 4

FATTEAT|

Ans X1 abbaabb
v2abbabab
K3abbaaab
X+babbaab

abb_b__bab__babbbb_ _

Q.20 3RT & 3W FASA FT TUA H{ o8 &N TS FEL-HTA H HAED ®T T WA W YA Q@

Question ID : 4244291353
Status : Not Answered
Chosen Option : --

Ans X1 G
X2 7
v 4
X4 6

O CrrafafET gHeToT & ‘@ + b T #T Saer gem?

[4(3+{9 x6 +3+ {12 =+ (1 =1 x3)}})] = 5% x 2?

Question ID : 4244291342
Status : Answered
Chosen Option : 3
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Q22 =3 Ry 1 907 F, e SO aeE ¥ T TEW ¥, S gEY o M 9ES o ¥ ¥ gradeup
Tew o foe oo wEd o i ?

e X1 Saalr
X 2 wE
<5 FEE

v REE

Question ID : 4244291352
Status : Answered
Chosen Option : 4

OB & % Yy F et Hr wEw aawv

Ans ?(\'1. 16
v 17
<312

Question ID : 4244291361
Status : Answered
Chosen Option : 2
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Q24 & o ey ¥ o€ 3R 90T W T W, 3 T TR T 77 @2 gradeup
Ans
Ko
<2
X 3.
v &3
Question ID : 4244291364
Status : Answered
Chosen Option : 4
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Q.25 o Fh F FE o 6,000 5AE F o9 W TET #1 9w X 99 ¥ dhw 15 R ¥ Beow gradeup
F HeATET T A 3 457 A ¥ g€ ey F fw 2200 Fr #AA @A E A amwT Faw Ay F
3T H T T ua wee wEm?
Ans 1. 72,000
X 2. ¥75,000
W 3 69,000
< 4. 370,000
Question ID : 4244291341
Status : Answered
Chosen Option : 3
Section
Q.1 1 1
4 1 .8 5 g .1 5
R ol i O Ll e -
3 4f13 1,1 75 6 H A §:
5 8
Ans B
1. FC,
2(' 30
V2 —
) 30
- 2
3. PR,
2(' 15
- 1
4, —
K 15
Question ID : 4244291383
Status : Answered
Chosen Option : 2
Q.2 1
o x=3+2V2 & A x2 4+ A A &
X
Ans K 1. 36
V2 34
<3 30
<4 32
Question ID : 4244291380
Status : Answered
Chosen Option : 2
A Comprehensive Course
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Q3 A B3R C frf 379 W &= f5g §1 7R AB = AC = 72 om 3R £BAC = 90°, & fiea W ¥: gradeup
Ans X' 1. 14 cm

<26 cm

v's3 7 cm

K4 742 em

Question ID : 4244291375
Status : Answered
Chosen Option : 4

Q4 zfy w9t Y@ PA 3R PB, UF aew Rig P ¥ &% O a1 UF 39 W IH THW FE 9 F
2ZAPB=70° &, AT £0AB F TTET £

Ans X1 4(Q0°
K 2. 250
V' 3. 35°
< 4 30°

Question ID : 4244291376
Status : Answered
Chosen Option : 3

Qs Ilﬁ':sin(A+B)=cos(A—B)=§HmA&ﬁTBFq_?ra-ﬁuTﬁEﬁaﬂ'ﬂrAaﬁTBa?rm(ahrﬁjm
Ed|

X1 A =45 3T B =45
<2 A=153R B =45
X3 A =60 3B =30
v A=45 AT B =15

Ans

Question ID : 4244291386
Status : Answered
Chosen Option : 4
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Q.6 T ToAE H TS TEESEd W AW O S 3 39 & safead f gew @ s T man, st gradeup
FETET # B o ¥ 3OaRT FT T &y AT a4 BT T weF & 3eaw £

N
00 400

wafRaal fraear
g
g

0_1’_

15-20
20-25
25-30
30-35
35-40
40-45
45-50

g wE (3 )

a§ 15-20 3 T 20-25 g WHE F Fiadr B Fa FEAT F, a9 30-35 AN T 3640 a1y
THE & cASd B e TEA ¥ HTS AT 27

Ars X113 : 9
X214 : 17
<315 : 19
vi14:9

Question ID : 4244291389
Status : Answered
Chosen Option : 4

Q7 ,ABC # D, BC W w g & aﬁﬁzg 2B=75°3T2C =45° § ot «BAD sT@T &
Ans ?{1. 5(Q°

< 2 60°

X 3. 450

v 4 30°

Question ID : 4244291377
Status : Answered
Chosen Option : 2

Q8 zfy 8- 3Py wwaT 43A5325B, 8 N 9 A fee=w &, A A ¥ B & o W &
Ans 14

<215

<312

<418

Question ID : 4244291382
Status : Answered
Chosen Option : 1
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Ans X1 4
X2 1
v 0
X4 2
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Question ID : 4244291379
Status : Answered
Chosen Option : 3

Q.10 F=faffT sroafeT & o &1 T e o gem 7 337 &
TE FodE H UE qEOeed H A A R 3 79 % e B 5 & A G S
MO ¥ FATAT T §| A @ F{eTUS Y AT AN BT T 99T w31 &)

350 350

wfFaal fraear
8
g
g2

15-20

T FEAE H [T H A A1 o SAieadl B HEAT $ fhae Sfovid sated HgEer 25-30 A %
7

Ans X 1. 10.5%
<2 12%
< 3 15%
v 4 125%

Question ID : 4244291390
Status : Answered
Chosen Option : 4

Q1M g G goa v Forw aa §| gew & T i @Ew 9 e 22 om 3k 44 om B Tew
a‘tgné%ﬁ(;::?ahﬁm

Ans X 1. 25 cm
<23 cm
v 35 cm
<415 cm

Question ID : 4244291368
Status : Answered
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Q.12 fEex v Afwe Sedilw difedr & 23,750 ®1 e &g &, 5 & su% A@fde S5+ & 15% &1 56 gradeup
e F AT AEF AT N 25% AN 8% FHA: UF A e Ao, A Fygae vw # Sy war
1 3WF W T HA AW &
Ans X 1.312,000
v 2 313,000
/< 3. 215,000

X 4 28,000

Question ID : 4244291371
Status : Answered
Chosen Option : 2

Q.13 5
Gsect 6 — 3 cosec @
3
ofg coth = —, 0°<8<90° & & 573  — AT &
Vs —sec” & + —cosec™ &
5 3
Ans 2
Ko —
3
. !
N2 —
%
B |
~3
3
vl

Question ID : 4244291385
Status : Answered
Chosen Option : 3

Q14 1f @ is a positive acute angle and tan26 tan3@ = 1, then the value of 8 is:
Ans K 1. 45°

X 2 60°

X 3 36°

v 4 18°

Question ID : 4244291384
Status : Answered
Chosen Option : 4
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Q15 =Rl o o7 aegas wY AT By ov gew &7 39w &

TE-3E I 2018 # FFEr F9 #1999 g (FfoerT fowon) A== AT A B, C, D3R E W
g §

AN

meymﬁmﬁmmmwmm%
Ans ?(1. 45°

X 2 56°

X< 3 520

v 4 54e

55%

¢
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Question ID : 4244291387
Status : Answered
Chosen Option : 4

Q16 = A F7 50%, g FEaT B # Sie W B, 26% a9 S €1 FEAA AR B # 39
Ans X 1.3:4

K253:2

vi31:2

K42:3

Question ID : 4244291373
Status : Answered
Chosen Option : 3

Q17 I FarE Fvw gha gEaEH #F da, S FEET T 55 gemE b HeT ¥ e w74
21 ofy s O T gt & anT FuT & R 9 fIvA EEEEd % A9 & swey g, o s
IR wwE geaat @ st &

Ans ?{1_ 3'5
X2 32
X318
v 24

Question ID : 4244291369
Status : Answered
Chosen Option : 4
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Q.18 AABC #, E 3t D, sf=maff AB 3Rk AC W fig 57 9o & & £4BC = £ADE ¥ 7 AE = 6 cm,
AD =4 cm 3R EB = 4 cm &, @ DC & ==r2 &

Ans  of 1. 11 em
<28 cecm
/<395 cm
< 410 cm

¢
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Question ID : 4244291378
Status : Answered
Chosen Option : 4

Q.19 gremer sgrer =X 5 avt & B AR & 60% 1 3 B ¥ 5 e @7 WA I & 26,250 v
TR T gy w0 e g Aty s AT weifeT A 82

Ans 1 31,590
~ 221,500
X< 3 31,560
< 431,480

Question ID : 4244291374
Status : Answered
Chosen Option : 1

Q.20 x‘-l—i
. R
Elﬁ'x—i—x—S,x;tﬂ%, Eﬂ'xz_ax+1ﬂ?rﬂlﬂ'a':
Ans 1. 85
< 2 60
< 3 50
v 4 55

Question ID : 4244291381
Status : Answered
Chosen Option : 4

Q21 s & v avg 27,000 # & 3R 5w Fi& F 30 @ ge) I 3HA I 8,750 F g, o 39
grﬁaﬁruﬁ?éam;r-ﬁm‘é;wwgmg!m 10% WmT §To &3 & 0 50 g0 a&g &1 hE
e O & A1feT?

Ans X 1. 37,800
X 238,400
< 3. 28,000
v 4 28,800

Question ID : 4244291372
Status : Answered
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Q.22 A&ﬁwsﬁmmmyﬁ;ﬁrmaﬁrm%,sﬁﬂﬁ@mm&Baaaro‘fs'\&fra:mafrzs gradeup
e & U F wE ¥ I FH F OIS W R H A F A B e

Ans xX 180 ﬁ:’.?-l'
v'2.100 fe=
X3 75 faa
X4 60 f&eT

Question ID : 4244291366
Status : Answered
Chosen Option : 2

Q.23 TERfET TE-3NE # ITAS FY HT BT AT 9= # 3o} 5

TME-3E I 2018 # e 90 7 g9 =ug (Ifaera o) Bf== #sT A, B, C, D IR E
e 7

uﬁ:a’a‘fzmsﬁAwﬁBSa&ﬁgaﬁﬁmw,aTmaﬁgmgmaﬁ(ﬂs%ﬁ)ﬁmmm

Ans o 12300
< 2 2400
X 3. 3350
X 4. 2320

Question ID : 4244291388
Status : Answered
Chosen Option : 1

Q.24 e oy WU A W AT $6 THN § 3fthd ST & T 59 #pF W 15% g7 & F 51 &, 5§
27.5% =1 T WA giar &1 Al A @ w5 qew 2200 § A sEer e g &

Ans X 1. 2350
v 22300
X 3. 3250
< 4 2400

Question ID : 4244291370
Status : Answered
Chosen Option : 2
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Q.25 tw zafém & 5 9 # 35 km #7 g a7 F1 TT g 4 knth F oA F Yo oy anhr Fr gf ot
9 kmh Fr I § T FNI Yo 7T H T &

T4
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Ans X' 1.10 km
<215 km
V'3 8 km
< 412 km
Question ID : 4244291367
Status : Answered
Chosen Option : 3
Section

Q.1 fFafafeaa & J 59 sidia @t YEamd AeTe Tieh gRT 1930 & F1 7E 62
Ans X' 1. 3EUNT SfiaraH

/X 2. WRA BT sffared

/X 3. faammsa sige

of 4. S0 sraw siaem

Question ID : 4244291408
Status : Answered
Chosen Option : 4

Q.2 gl & AreE & T ¥, R i 3% Aied ReeR | g« fsar s g,
frafafad & @ o9 a1 g9 9@ T 82

Ans X 1. GIHT UG - 3T QRS
o 2. SicH (UHmET) Fif! - eiiferar et
75 3. T fdadds - A A &
X 4. THTR YHI0H - A, 7T

Question ID : 4244291401
Status : Answered
Chosen Option : 3

Q.3 2019 ¥, & I3 A UR gurwER g W BT 3 Wale ARRSG T <SG Ued
(Zayed Medal)' & w1 fvam 41?2

Ans X" 1 cH
X 2 g
7 3. SoREA
o 4. TG R sRIa

Question ID : 4244291410
Status : Answered
Chosen Option : 4
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Q.4 T9aR 2019 ¥, f YR Tueiie &) e1gH 100 AR ¥ it farar wam 41, 5 39 100
IUA RIARY B IVNRR 1 §, S G, AR, [, IeHiTd, 3nfe & Hias &t

¢

gradeup

Chosen Option :

IHTHR & ¥E 82
Ans X' 1 fgme
/X 2. didt Riy
W 3. gt
75 4. i arelt Sifst
Question ID : 4244291415
Status : Answered
Chosen Option : 1
Q5 fmfafaa & | e 90 AR 1 age & W T F 0 F O 5 o 82
Ans X' 1 TR T
o 2. T T
/< 3.3% T
X 4 PRATT
Question ID : 4244291393
Status : Answered
Chosen Option : 3
Q.6 fgfiafad & ¥ s =f Iw & afii ok gféor & smmens veifesal & &t R 82
Ans X 1. arrfed axf
75 2. PRIBRA &
o 3. ureEre =
X 4. Jgam =t
Question ID : 4244291405
Status : Answered
Chosen Option : 1
Q.7 Sa 2020 A W Fe feaaorR Weiee (CDP) arffe Ruid & saR, fagm smenfya
el & forg Hiue gfiasarst & YRd ST I A1 RIE UI?
Ans X 1 oa
o 2. giTat
/< 3.3gaf
X 4.@a
Question ID : 4244291396
Status : Answered

1

e
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Q.8 IWY HRA A 98 PH-U1 TUoa HHIARUG -3 R 87 2, st ik w0 & Rgquvm
uf$uTd, YS-TdS TS Td (Red-crowned roofed turtle) 3R faguamy v 7} &t
sifep & forg o ulrs 32

Ans X' 1. IR aSig SHIRTY
75 2. WS IISIa SHaRTY
W 3. TS dad snEReg
X 4. S geila snaRvy

¢
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Question ID : 4244291406
Status : Answered
Chosen Option : 3

Q.9 JeIT & O Prafery # fFrga 819 ari/are’! HRA &/@! a4 gaT 3MSTTH (IAS)
ARHTH 14 &2 32 ¢ Tiuew b & ma & ft Sr=1 Srar 21

Ans X 1. AT STRAETGHR
W 2. & SRara
#< 3. 39R 3gHe 9
X 4. @i @ AS

Question ID : 4244291412
Status : Answered
Chosen Option : 2

Q.10 mﬁﬁaﬁq—mﬂﬁﬁaﬁma@%ﬁsﬁ%mmﬁmmmﬁ

Ans X" 1. 3Rad T
75 2. gauiar 7t
75 3. et 7d
o 4 e d

Question ID : 4244291404
Status : Answered
Chosen Option : 2

Q.11 S & geriHt TdT Teara® 7 AP SIS Rreq Aell-2019 H1 IgUre bei fbar
u1?

Ans "‘1313%(%1
X 28
X 3. FcH
X 4. DUTH

Question ID : 4244291392
Status : Answered
Chosen Option : 1
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Q.12 T forer & aRuTeT UReT WU & 5w srgde A § g @2
Ans  of 1 3M5E 110
X 2. 3T 44
#< 3. 37=3 93
75 4. 37=T 33

T4
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Question ID : 4244291411
Status : Answered
Chosen Option : 1

Q.13 3ragar 2019 ®, YR W & 5 7d fhdex 3R o™ &) sivaive ©u I fififens
(BCCI) & 3reAel & =9 | T T 412

Ans X 1 oy
75 2. grita MR
' 3. v et
25 4. 3fa

Question ID : 4244291413
Status : Answered
Chosen Option : 3

Q.14 YR SARTEH faT= AEI4 (IISF) 2019’ & 50 HEHRUT BT AT e e | ol
Y12

Ans 1 BTG
/X 2.dSmg
W 3. Fas
75 4. fol

Question ID : 4244291395
Status : Answered
Chosen Option : 3

Q.15 STt 2020 9% 1 AT F AN, YITAT 3ARTYS (UPI) BT IUGNT H3d §¢ S
TwR (AR siaron) &Y 3= dar fast 82

Ans X' 1 227E
/5 2.%50,000
75 3.%90,000

o 41T

Question ID : 4244291398
Status : Answered
Chosen Option : 2
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Q.16 FHugex & W § WoRM fFueT Ifdra wu g2
Ans X" 1 RO SHTORFET, IS HISIA (Wireless Operating, Read Module)

x 2.98 3HifPdwd, R Aiddar (Word Optical, Recognition Malware)
/X 3.9 30, 3 FERY (Word On, RAM Memory)
“ 4. %e 99, s 7 (Write Once, Read Many)

T4
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Question ID : 4244291391
Status : Answered
Chosen Option : 3

Q17 PR & IS | f6H YD PT 341G & IHATHT (TS B TaP) & & § fpar man
q1?

Ans X 1. IR AT
75 2. R AT
o 3. TR
75 4

Question ID : 4244291407
Status : Answered
Chosen Option : 2

Q.18 ?ﬁﬁmﬁ%ﬁmﬁ,uﬁaﬁ%mﬂ-ﬁaﬁmﬁmmgsﬁ)@m

Ans o 1 WGl A
75 2. g d
25 3. g
p R

Question ID : 4244291394
Status : Not Answered
Chosen Option : --

Q.19 TR (Aicediex) T IHTaFIE A T 8?2
Ans  of 1 KNO,

75 2.Kcl

/X 3. KAILO3

75 4.KCl.MgCl,

Question ID : 4244291400
Status : Answered
Chosen Option : 3
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Q.20 TR &1 Ja FST ANTRG a1 srdw i sfear, At 2020 & e garg oy,
FaraTe ¥ T fram T ATl 3 e @t fawg-avg @ A2

Ans X" 1§ ¢ TS (Born to Fly)
75 2. ¥ ¢ WIS (Women to Fly)
of 3. T ®R 3T (Flying for All)
7% 4. TS TAIEH (Flying Everyone)

¢
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Question ID : 4244291397
Status : Answered
Chosen Option : 3

Q.21 1918 H 370 A fHw I FI TSI Fier FI W HA F g Wiad! § Add Reor @
gt fsar T 912

Ans X' 1 FE IS
75 2. IR e
/X 3. o Iefaw
f 4 TR BTl o ST Wi

Question ID : 4244291402
Status : Answered
Chosen Option : 4

Q.22 Fat 2020 A WY fay waof ufvug (World Gold Council) #1 R & SER, YR
gﬁ'ﬁmsl)aﬁgﬁm%ﬁuaﬁ%ﬁaﬁ%&ﬁﬁmmﬁﬁ%ﬁuﬁ -
T

Ans X" 1 grar
75 2. gfaat
W 3.3
75 4.3l

Question ID : 4244291399
Status : Answered
Chosen Option : 2

Q.23 frgfafad o @ $19-91 vda HRa § dera & R 87 & ue fRa 22
Ans " 1 dhETeil Udd

75 2. Frgudd

o 3. K12 9dd

75 4. fpua gt uda

Question ID : 4244291403
Status : Answered
Chosen Option : 1
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Q.24 2019 ¥ 'BWF IR1-3sfiie a8 IR F ufgar tera sL3 sde & Mes giva axd gradeup
frem sfogra s=mar?

Ans  of 1 T =it
#< 2. U5t SAGEHTS TRAR
X 3. GRRd e
75 4. T A

Question ID : 4244291414
Status : Answered
Chosen Option : 1

Q.25 ¢ vife Te R Ars ifedf¥ra &+if ¢ 3iiwifie Mes (A Shot At History: My Obsessive
Journey to Olympic Gold)' fFd YR fA=ImAaTS & STt 872

Ans X' 1 ITgaef g W6R
75 2. S|
X 3. T ARA
of 4. siftFa faar

Question ID : 4244291409
Status : Answered
Chosen Option : 4
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